7"02

NI227972 NP
71905 — 4 593N
(twwanram) C:lz|=1 jzRezdz 1
C

z=¢€? 0<60<2r
2r

2r
I zRe zdz = J' e cos6- ie” df =i J' e cos0do
|z]=1 0 =7'(0) 0

2z 27 2r
=i I (cos 26 cos +isin 20 cos0)do = {% J' (c0530+c050)d0+%ij'(sin30 +sin B)dej
0

0 0
2r
= —l(—1—1+1+1j =0
0 2\ 3 3

2z

=£i 1sin36?+sin0 —l —100330—c050
2 \3 2\ 3

=0 0
J' e‘dz .2
C
MIEPa P R9X, C 7%0m2a 90 1R jezdz DIA0IRT 1P, abw f (z) =e’ ¥pns
C

z,=1+i-12,=0

1+i .
! 1+i

= J'ezdz =g’ . |
0

»o IMz >0, [z|=R %0 Yv nwpn naommn nmpy C WK J'|z|7dz 3
C

.Imz=0, -R<Rez<R

- R
I|Z|sz :,[R R,efiG . R_iei9d0+ j |X|XdX _ 7Z'iR3 ‘177D
C 0 R

YOPA TN ON TPIPND DY HNVIN NI, 0IND MY OWNNN YOPN DY INVINN 9N
Ralvjaliv)

|z|=1,RezzO,\/—_i=%(1—i) :C jﬂ 4
cVZ

z=e" -T<g<”
2 2



7"02

- 2(ei4 —e_i“] - 4isin% = 2i2

T

|2|=1,Imz>0,Rez>0 : nwpn TMKY jwdz 5
1

+z
In(1+2) )
f (z) = TPEPI9T 121 P10 nwp DR 0w D wp vws own 0pw P
+z
Z, =1 -1z, =12p7R"T, A2°007 MXP2 27120 DR0IRT, N0 IR
In(1+z)=t
tIn(1+2) g (1+2)
:>j L= 1
1 1+z T, dz =dt
+z

In(1+i t2 In(1+i)

= j)tdtz—

2., :%([In(ui)f-(In2)2)=%((lnﬁ+ig-(|nz)2]

2 2
A i 2o =l 32 F |4 Bing
21 4 4 16 8 32 8

In2

. “1+tanz
z,=1,z, =0 DMTPII DR 12MA7 MW P TRD I az dz .6
1 COs” z
l+tanz
f(z)= az TPXPIDT 121 PP DR 0w D wp vws own arpw o
cos“ z
SO NRONA WANWR? IR, Z, =1 -1 Z; =1 MTPI1a P71 °190 DR0eRT, 0N
. Ph1a”h
[ f(2)dz=F(z,)-F(z) (F'(z)=1(2))
D 2
i l+tanz =t
l+tanz
j —dz= 1
1 C0s“z s—dz=dt
cos“ z
Letani 2 1+tani
1 \2 2y 1 . 5« )
J' tdt = — :—((1+tan|) —(1+tanl) ):—(Ztan|+tan i—2tanl—tan 1)
1+tanl 1+tanl 2
H -1 1 2
1 ini 1sin?i 1 e —-e) 1(e’t-¢
=—(tanl+—tan21j+s—_+—S 2_=—(tan1+—tan21j— (_1 1)—— e_l el
2 COSi 2 cos‘I 2 e +e 2le"+e

= —(tan 1+%tan21+%tanh21j+ i tanh1

C:|lmz|<1,Rez=1 J'zlm(zz)dz 7
C



7"02

1 Tl-l-i
1 l
-1 141
z=1-1 ; z,=1+i
z(t)=1-i+t(1+i-1+i)=1-i+t(2i)
=1-i+2it 0<t<1

1
jl i +2it) Im(1- |+2|t) 2i dt
0

[

=z(t)
(1-i+2it)" =(1-i) —4t(1-i)- 4t* = (-4t —4t*)+i(-2+4t)
Imz* =(-2+4t)

= Zij(l—i +2it)(4t-2)dt = 2ij(8it2 —dit+4t(1-i)-2(1-i))dt

4

= Zi(%ita - 2it* - 2t? (1—i)—2(1—i)tj
z, =1+i -1 z; =0 MTMP1I DR N2aMAR 91279 Yw nwp 1 C J'tan zdz .8

Cc
EPNOT AW Z, =1+ -1z, =0 MMPII R Pona D wp vws own ovp

1+i

J'tan zdz = J' tanzdz = F (1+i)-F(0) < nmvax f(z)=tanz
(3 0

0

D 2 F'(z)=tanz wx>

1+i 1+i
sin z cosz=t
J' tan zdz = j = i
cosz —sinzdz =dt
cos(1+i)

=— j %d t=—In t|COSl+I :—In(cos(1+i))

1



